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Volume Of Distribution

Example
Suppose the drugdose we aregivingcontain 9activeunitsofthat

drug if we havemonitored the abundancy of thatdrug in the

plasmaandfound that the wholebodyplasmacontainonly
3 active units of thedrug Meaningthat the 6otheractive units

were distributedto thebodydifferenttissues whatwould the

Volume of distribution be assuming that the whole plasmvolume

in the body is equalto 2 Liters

Ans VD 3 2 6 Liters
clarification thewhole body'splasma 2Liters contained

theamount So how manylitersof plasmawill
berequired tocontainthewhole 9activeunitsatthe
Sameconcentration 2 2 2 6Liters

3 3 3 Dactiveunits
Thewholedose

After that example we should conclude that the Volume of

Distribution is an Apperant volume and not a real one Thats why adrug
with a veryhighdistribution to bodytissues verylowconcentrationof it left in theplasma

would have a volume of distribution that is largerthanthe wholebodyvolume

VD is a theoretical concept to measure drugdistribution don't relate
or compare it to real body volumes

Highdrugconcentration in the plasma Low VD
Low drugconcentration in the plasma High VD

The volume of distribution (V) is defined as: How many liters of plasma are needed to 
contain the whole dose given of the drug at the current plasma concentration of the 
drug .


